3078NB4

E+ERTI-T POD
DUR-00 HuikinBAE

Z DO 1=UIE TDUR-001 (VI07xiW/VI060iT/TS2060i ERA Fa>a=v k) #KE
WEFWEE, WISHYMNES TTVET,

FLOIZ, CHREEEYDERTHAINE RIS,

AE(F DUR-00) OEAER. TELDO TR, FWEH. MAA XL EEBRD
DTY, RYFZWNDEFELTIE, CHERIZLEDBHEIIC, AES I UM [/\— FEk
El. TOMEEYZAT7ILECABENEESE, +RICARECEBROLCHERACES
(A

S SER
DUR-00 ..o e 1@
R
BUREBAE (FRE) oo
BFrY (M3x12). .
(M3 x8) .
FG R oottt 1 F:N

REEQOTEE

AERFEZFVFERESIEALTOVEELEDIC, FBEREOS VY % TRIKR.
DR 1293 T, FTROLSHRRTTRLTVLET,

A =8 RYKWNELR-HE, REFLRFEGEZBE LB LRRETKE
e ERLET,

MYKWNER-I5E, BIEFLEPEEQGE LR THEENHD
KR, BLUPHBEOREANTA SN LBEREKREERLET

u5, N\ EE CEBRLEFETL, WRICE > TREAGHRECHUD

VAN A

o XEDOHMIL., RREE. BLURT - RREBTERED - THhBfToTLESE
L, BRELBEOBIAHYET,
o BEPFMEFICIHFICHNLZOTL IV, BREOBALNHY ET.

AxE

o BFREFICHERF T v U ETo>TLESN, B5. EROHDILDIEFERALAENLT
(RS, KK, REE. HEORRELYET,

o BT AME, MEFHBE., EEREE,. X EHEHE. FRBHAEESHL LT
INEDVRATLEEDHKERAEAD SHERICOEFEL TIE, BHEREATHH
&L,

o RERFIAES L UVEETZ 2 7IILEHO—MERORETHEA (RE) LTKL
EFEW, —BARUSOBRETHERT & KK, BEE. WIOWE. H50
IFHIEDRAICEY FT,

-;?@&5@%%ER@%(&%)Lﬁuv(ﬁéuoﬁﬁ~kmwﬁitﬁu
- K. BEAR, AIREAR. BEI. HEIR. DEREICEEMN S5
- BB, #E. AN, EStEXICS S SN DB
- LABL, B, SMHNZERT
- IRE). EELNEENDS &S IR

o BT SOFEDFTITEL 0.5~ 0.7 Nem D LY THEEITHO M T T EE L, Hi®
fHFICRERHD E, ETF. B\ KK, BEE. MBORREAGYET,

¢ AMBANIZEEUEYMNALHEVLSIITEFE LTI, KK, HIE, REME
DERIZHEY FET,

o REGDIERE - HfF - BUEIX T DIETIXMR (CITHALT, B FI(XEEHIERE
EEABEEKBELTCESY, BEOREERYET,

o REZDIEE - N - BEFE. BN, £ LLEEHBEUNDE=ENTT>
k%ét%%hﬁEHFEBEEE%KoéiLr@ﬁ&iﬁubhi?wf:
TERLIEZSLY,

o Bift. BIREES L URT - RREEMAMBEEODANMT TS,

o BEEPDBRTELERE. MEIHN, £, FLEEOBREF+HIREFRALTHD
ToTLIESL, BEIRICKYBEABIEL. EBBOWBOEHOBNLHY
9,

o REGHAHET L LIZEY . AGICEbL oY ERBEBIRORENFRZIND
EEAOBERICEL CTERTREEBZZEL T,

e ARG ERETIHLEIL, EEBEEMELTH-TLESLY,

o REBICHNBENIZIE., BHISK-EBLEICHMNI T, ARG EITHFELTWD
BESTHRESE T LSV, BAUGHERIE. RBE. MEORREGYFET,

[—femiEESIE]

o FlfHER - BIET—TILIE. BARKR - BERE—HITHEAY, EELEERICLY
WTLEEW, Bhig - BEKEIT200mm U EZBRICH LT EEL, /(4 X
Ik BBRBEQDRRICHEY FET,

e ABMGDFHFE. V7Y FEELVWARICELRAATLESY, &E - REED
BEERYFES,

o« FROE., Vo HEHREERSEIILLHHOT, TROFILI—ILED
FRCESL,

e V9 L 1J—X, TS2060i & ClassA] TXREEMATY . TERETHEAT H5HAE.
%&g%mﬁﬂt&éﬁ%ﬁﬁbét . BRMEICKT BN AERMENBE LA
YET,

e EZ A YTFLEHLTULDEFTEE (PLC, BHABLLE) 2E-4 v FLRABICI
b5 LR, HERBAITREIS—MPRELLSEICE. HFEHBOHAEIC
HOTIFT—REETH>TLIEEL,

80200000

fE AT RETE Bt hE CN1
VO07xiW. VO0B0IT. TS2060i ‘ :
Axg e 1=y FERYMIFBEE. VO S —XET=IE TS2060i DEFEE CN1 (Dsub 9 pin M)

3 EE OFF LTCEEN, 5 5
i o BAERDIE 0.5 ~ 0.7 Nem THIZISHDH T LS, ELES __ RS-2320 _ RS-422/RS-485
£a> hbO—5B\ER—F (Dsub9 E>) 554 nE E5% nE

==
1. VO LY —XE -1 TS2060i BE®D EXT1 P25 & HA— (FEOEHS) %51 1] NC R *RD | 2E7—% ™)
i 7, 2| RO 2ET—5 -RD | BEF—5 )
. 3 SD EIET—4 -8D EET—42 ()
EH tE P veoriw 4| NC P +SD | #ET—4
EE CE : EN61000-6-2, EN61000-6-4, EN50581 5 SC | YIFNTSvE | SC | YIFLTSUE
UL/cUL : UL508 (7 7 1 JLES E313548) 6 NC *fER +RTS | RZETX +)
ER DC5V (k& Y #E#8) EXT1 7 RTS REIEER -RTS REEER ()
HEARERE 0~50°C 8 CTs EET NC KEHR
RERARRE -10 ~ 60°C 9 NC KEA +5V R 2
o _ * *1  {EB L ARJLRS-232C, RS-422/RS-485 MYNE (L, EEY 7 FTITULET,
5 PR R IR 85%RH (#EHME &) 2 2. DUR-00 DETIR 3 Hfi % VO & 1) — X E 1= (% TS2060i DR 3 HFF & Ahe EELALERS232C [SLIBA. T4 9IRS 9F 1. 2 0T OFF LTI AL,
ER 9 ETE *2 <. TRADEFEENASEBELILET, aRI4NRLoMYRAE LI L2 *2 {EB5LAILERS-422/RS-485 ICLI=iHE, 9 EV &Y +5V #HALET . 2L, HEDH
RERETR 85%RH (BFHE L) BEOBEHCRBERAEERE LTERAT240THY ., SMBEBAERE L TEEATE
FRASE Z5 2000m U A,
FRASES BEMARNLGL, EBAVDELHENT E, BLUVEEM
DEZRAEN & _
— S, F4vTRLYF
o #1509 ANiE g T1YIRA o FERET BHIE. VO LU~ XEL I 752060 O]
Stk WxHxXD 150.5 x 98.0 x 25.0 mm (AAEHEAI R 2 £ <) = BEOFF LTLESL,
r—2 SARTL—
o PC #iiE — 1 | CN1 RS-422/RS-485 g1%2—9 aafr@fnmﬁﬂ_ﬂf
1 CE. UL/CUL 84882 8o E% LB DH, 3. EROEMFRY (M3x12) T. DUR-00 & V9 &) —X & =I% TS2060i IZEE L [(m 2 | CN1RS-422/RS-485 #1877 — % D IHIER
BUCIE [— FHEE] £8BLTESL, =9, ZOE. %7 DUR-00 D FG & VO &1 —X £ =14 TS2060i D FG £ HES N 3
2 BWEOFREELYETOT, BEEE 39 CLUTTIHEACESL, DFCRTHEKLET. oEE REA
3 AMBEMEALFESECSTZEEENEOREESVERTIFETY, FRE2) £, 3 (TEEE) 4
HEMHOFLEOARET HRRERLET, L, BEICL > T—HUASENEIY S5 ]

RATT.

STk - HEEW

DUR-00
(s 1505 |
| \
— ©/
o §*71
| — R — [ —
 e— S— —
| — R — [ —
o —3 [=]
| — R — [ — 8
| — R — [ —
| — R — [ —
® L ]
TN e= s
QI R
—]
1. TAavTRAYF
CN1 DIEES A L ORBERERET BRA v FTT,
2. £arhra—Z&EAa3IRY 42 (CN1)
PLC 1 [L4 ERSIBMEER E S ) 7ILERT 5220 4 TT,
3. FGHF (FG)
BIEY—TILOFG BEEHT BT TT.
A{% + DUR-00
(B4HL : mm)
® VVO071iW ® VVI9060iT
} 186.2 | 173.0
|
QWWUUUUUL@W
[s2]
imﬂ wels T oEmE N oo
\HD\ [oll s+ |® = Lo.
t 1
® VI070iw ® TS2060i
} 186.2 | 173.0
HI =
i - (o =
JneEE Bl g5 BH:
Mel™= ==1o[ +°|8 | 1o ®
f f

* TS2060i DIFEE, BIEAFGIRFICFGHEEEHRLTIEEL,
KB

4. BET-ILVEERHLEYS,

TRARDERT D
ELFES,

(M3x8) T. #EZ7—TILD FG ##% DUR-00 M FG #iFIZE

b/WNES

DIPSW1, 2 (CN1 RGN EE)
o RS-422/RS-485 (2 #=X) TH#%EF. DIPSW1 % ONLFEY,
o RS-422/RS-485 (4 #=X) TH:#%MF,. DIPSW1, 2% ON LFE T,

DIPSWS3, 4 (k{EF)
OFFIZLZET,

F= #insskisd

T924-0035 FHJIRHILH _EAEFET890%1 URL http://www.hakko-elec.co.jp
EZAyFa—I)LE2HE— T')—a—)L 0120-128-220




DUR-00 OPERATING
INSTRUCTIONS

Thank you for purchasing the DUR-00.

Make sure that the delivered unit conforms to your requirement, and also check for any
missing or damaged parts.

The DUR-00 is an option unit for V907xiW, V9060iT and TS2060i.

This manual for DUR-00 describes the product configuration and gives notes on safe
usage, the names of components, and the mounting procedure, etc. Before using the
product, carefully read this manual and the separate “Hardware Specifications” and other
related manuals and make sure you understand them.

Product configuration

DUR-00 .ttt 1 pce.
Items

DUR-00 OPERATING INSTRUCTIONS (This manual)........ 1 copy

Mounting screws (M3 x 12) .... . 3 pcs.

(M3 x 8). . 1pcs.

Ground cable . 1 pce.

Notes on Safe Usage

* Be sure to terminal block or sockets of DUR-00 in the correct orientation. Failure to do
so may lead to damage or malfunction.

* Do not use thinners for cleaning because it may discolor DUR-00 surface.

Use commercially available alcohol.

e The V9 series or TS2060i is identified as a class-A product in industrial environments.
In the case of use in a domestic environment, the unit is likely to cause
electromagnetic interference. Preventive measures should thereby be taken
appropriately.

o If a data receive error occurs when MONITOUCH and the counterpart (PLC,
temperature controller, etc.) are started at the same time, read the manual for the
counterpart unit and handle the error correctly.

Supported Types

VO07xiW, VO060iT, TS2060i

Purposes

For communication with controllers via Dsub 9 pin connector.

Specifications

Item Specifications

In this manual, you will find various notes categorized under the following levels with the
signal words “DANGER,” and “CAUTION.”

Conformance
Standards

CE : EN61000-6-2, EN61000-6-4, EN50581
UL/cUL : UL508 (File No. E313548)

Rated Voltage 5 VDC (supplied from V9 or TS2060i)

Indicates an imminently hazardous situation which, if not avoided,

ADANGER will result in death or serious injury.

Ambient Temperature 0to 50 °C
Storage Ambient -10to 60 °C
Temperature

Indicates a potentially hazardous situation which, if not avoided,

Ambient Humidity 85 % RH or less (without dew condensation)?

/\DANGER

CAUTION Iti i derate inj d Id rt St Ambient -
A gwaaéggze in minor or moderate injury and could cause property Hl?r;a}gﬁy mbien 85 % RH o less (without dew condensation)2
Note that there is a possibility that the item listed with /\CAUTION may have serious Altitude 2000 m or lower
ramifications. Atmosphere No corrosive gas, not so much excessive dust,

no conductive dust

o Turn off the power supply when you set up the unit, connect cables or perform
maintenance and inspection. Otherwise, electrical shock or damage may occur.

* Never touch any terminals while the power is on. Otherwise, electric shock may
occeur.

3

Pollution Degree* For use in Pollution Degree 2

Weight Approx. 150 g

Dimensions W xHxD | 150.5 x 98.0 x 25.0 mm
(except for connector of V9 or TS2060i)

/\CAUTION

Case Color Lightgray

Material PC

* Check the appearance of the unit when it is unpacked. Do not use the unit if any
damage or deformation is found. Failure to do so may lead to fire, damage or
malfunction.

« For use in a facility or for a system related to nuclear energy, aerospace, medical,
traffic equipment, or mobile installations, please consult your local distributor.

e Operate (or store) DUR-00 under the conditions indicated in this manual and
related manuals. Failure to do so could cause fire, malfunction, physical damage
or deterioration.

« Understand the following environmental limits for use and storage of the unit.
Otherwise, fire or damage to the unit may result.

- Avoid locations where there is a possibility that water, corrosive gas,
flammable gas, solvents, grinding fluids or cutting oil can come into contact
with the unit.

- Avoid high temperature, high humidity, and outside weather conditions, such
as wind, rain or direct sunlight.

- Avoid locations where excessive dust, salt, and metallic particles are present.

- Avoid installing the unit in a location where vibration or physical shock may be
transmitted.

* Tighten mounting screws equally to a torque of 0.5 to 0.7 Nem. Improper tightening
of screws may result in fall of this unit, short circuit, fire, malfunction, or trouble.

« Prevent any conductive particles from entering DUR-00. Failure to do so may lead
to fire, damage, or malfunction.

* Do not attempt to repair, overhaul or modify DUR-00 at your site. Ask Hakko
Electronics or the designated contractor for repair. Otherwise, it may cause a
malfunction.

» Hakko Electronics Co., Ltd. is not responsible for any damages resulting from
repair, overhaul or modification of DUR-00 that was performed by an unauthorized
person.

« Only experts are authorized to set up the unit, connect the cables or perform
maintenance and inspection.

» Take safety precautions during operations such as changing settings when the unit
is running, forced output, and starting and stopping the unit. Any misoperations
may cause unexpected machine movement, resulting in machine accidents or
damage.

« In facilities where the failure of DUR-00 could lead to accidents that threaten
human life or other serious damage, be sure that such facilities are equipped with
adequate safeguards.

o At the time of disposal, DUR-00 must be treated as industrial waste.

« Before touching DUR-00, discharge static electricity from your body by touching
grounded metal. Excessive static electricity may cause malfunction or trouble.

*1  This unitis complied with these standards when using it to the V9/TS2060i model complied with
the CE Marking or UL/cUL.
For more information, refer to Hardware Specifications manual.

*2  Use the unit with the wet-bulb temperature 39 °C or less. Otherwise, it may cause a
malfunction.

*3  This index indicates the degree to which conductive material is generated in the environment
where the equipment is used.
In pollution degree 2, only non-conductive pollution occurs but temporary conductivity may be
produced due to condensation.

External Dimensions / Names and Functions of Components

[General Notes]

« Never bundle control cables or input/output cables with high-voltage and large-current
carrying cables such as power supply cables. Keep control cables and input/output
cables at least 200 mm away from high-voltage and large-current carrying cables.
Otherwise, malfunction may occur due to noise.

DUR-00
(Unit : mm) | 150.5 |

98.0

5 ]

T = ey

—]
1. DIP switch

This is the switch for setting the terminating resistors of the CN1 signal line.

25.0

2. Communication connector (CN1)

This is used for serial communication with an external device.

3. FG terminal (FG)

This is used for connection FG wire of the communication cable.

Touch Panel + DUR-00

(Unit : mm)
® VI071iw @ VV9060iT
| 186.2 ‘ 1730
[
UL ] e
I = 2 7 il °
‘”ﬂ“ﬂ% P 223
N2 08 v g _ INE
f t
® VVO070iW ® TS2060i
} 186.2 | 730
ulﬁ e  m— UUL% o ©
\\HQ\W e WA Slebd B g8
! f

Mounting Procedure

4. Wire the communication cable.
Fix the FG wire of the communication cable on the DUR-00 using the mounting
screw (M3 x 8) supplied with the DUR-00.

Enlarged view

CN1

CN1 (Dsub 9 pin M)

o Turn off the power supply for V9 series or TS2060i when you
mount DUR-00 to it.
» Tighten mounting screws equally to a torque of 0.5 to 0.7 Nem.

/\CAUTION

1. Remove the connector cover (“( " mark in the illustration below) from the EXT1
on the back of the V9 series or TS2060i.

e.g. VOO71iW == o susuuw
Sk
<l [
|l

EXT1 o {— }

2. Align the three mounting screw holes on the DUR-00 with the holes on the V9 series
or TS2060i, and lightly press section “A” of the DUR-00. Check if the unit fits in the

connector.

U UUUUUUu@\u\uuuuuu T === S
el [T
= [l Lo == E
Qmmﬂm | === SSS
=== === :
=" Ir

= = lmnic o s
T

3. Fix the DUR-00 on the V9 series or TS2060i using the three mounting screws (M3 x
12) supplied with the DUR-00. Also, connect the FG of DUR-00 and the V9 series
or TS2060i frame ground (FG) using the provided FG wire.

Enlarged view

nnn 6

(@l nunnunuuﬂ;
qoooooon
ooooooo
e
|
. e

B
o \pwe
G

FG wire

/

In the case of TS2060i, connect the provided FG wire to the FG terminal for
communication on TS2060i.

Enlarged view

FG terminal for
communication

Rs-232C RS-422 / RS-485 '

Pin No. ig:;l Contents i'::]zl Contents
1 NC Not used + RD Receive data (+)
2 RD Receive data -RD Receive data (-)
3 SD Send data -SD Send data (-)
4 NC Not used +SD Send data (+)
5 SG Signal ground SG Signal ground
6 NC Not used + RTS | Request to send (+)
7 RTS Requesttosend | - RTS Request to send (-)
8 CTS Clear to send NC Not used
9 NC Not used +5V Use prohibited 2

*1  The signal level can be changed between RS-232C and RS-422/485 on the configuration
software. When RS-232C is selected, set the DIP switches 1 and 2 to the OFF position.
*2  When RS-422/485 is selected, +5 V is output from pin No.9.
+5 V is used as the power supply for the external terminating resistance for RS-422/485
communication. It cannot be used as an external power supply.

DIP Switch

Turn off the power supply for V9 series or TS2060i when you
&CAUTION mount DUR-00 to it.

1 | CN1 RS-422/RS-485 receive data terminating resistor
%: 2 | CN1 RS-422/RS-485 send data terminating resistor
LB |8
oL 8 4 Not used
(upon delivery)

DIPSW1, 2 (CN1 Terminating Resistor Setting)

* When connecting a controller via RS-422/485 (2-wire connection), set the DIPSW1 to
the ON position.

e When connecting a controller via RS-422/485 (4-wire connection), set the DIPSW1
and 2 to the ON position.

DIPSWS3, 4 (Not used)
Set the DIPSW3 and 4 to OFF position.

JF= Hakko Electronics Co, Ltd.

890-1, Kamikashiwano-machi, Hakusan-shi, Ishikawa, 924-0035 Japan
TEL : +81-76-274-2144 FAX : +81-76-274-5136

URL http://www.monitouch.com

Importer in Europe

Fuji Electric Europe GmbH
Goethering 58, 63067 Offenbach / Main, Germany




